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Topic :-Binomial Theorem

1. If (2x2 —X — 1)5 =ay+ a;x + axx? +.. + a;px'° then a, + a4 + ag + ag + aqpis equal to
a)15 b)30 c)16 d)32

2. Ifthe coefficient of (r + 1)™ term in the expansion of (1 + x)?" be equal to that of (r + 3)*"
term, then

d)N fth
An—r+1=0 bjn—r—1=0 cn+r+1=0 ) None of these

3. The coefficient of x1°°

Y2001+ xY is

in the expansion of

201
200 201 200 (1 )
a) (100) b) (102) <) (101) d)\100
4 The value of% +3 !(nl_z)! + 4!(n1_4)! +...,1is
n—2 n—1 n n
a2 b)2 Q2 a2
(n—l)! n! n'! (Tl—l)!
5. . 4 . x 3\
The coefficient of x* in the expansion of o
X
N fth
a)SE b)@ 9 @ d) None of these
259 263 256

6. If(1+x)"=Co+ Cix + Cpx* +... + C,x".Then, CoCq + C1Co +... + C,_1Cp is equal to

(2n)! (2n—1)! onl d) None of these

m-Dim+rD Daonimrn Q@mrer D

a)
7. 7°+97is divided by

a)128 b)24 c) 64 d)72



10.

11.

12.

13.

14.

15.

16.

Ifn> (8 + S\ﬁ)lo, n € N, then the last value of nis
a) (8+37)'° -~ (8-37)"
AB+3N"—(8-3V7")"+1

1 8
The ninth term of the expansion (3x — ﬂ) is

1 - 1
512x° V51220 %) 356:8

a)

2k . . 1\n—3
If x** occurs in the expansion of (x + =) , then
X

b) (8 +3v7)'" + (8—3y7)"
(8 +3V7)"°—(8-3y7)""—1

1
d)256x8

a)n — 2k is a multiple of 2 b)n — 2k is a multiple of 3

d) None of the above

k=0

The number of terms with integral coefficients in the expansion of (71/3 + 51/2x)

a) 100 b)50 c) 101
The coefficient of x3y*z” in the expansion of (xy + yz + x2)°is
a)70 b) 60 c) 50

If(1+2x+x%)"=Y2" a x" thena, =

a) ("¢,)’ b) "Cr+ "Cria Q) 2C,

200,42+ 29¢; + 20¢, — 22C4is equal to
2)0 b) 1242 ¢) 7315

Ify=3x+6x>+10x3+..., then x =

4 14, 1407
V373 T
LA L, 14T

——+ — + ..

) 3 32-2y 32.3 Y

4 14, 1-4-7

4 + + o
A3tz Y t 3237

d) None of these

600 .
, 1S

d) None of these

d) None of these

2nCr+1

d) 6345

The expression {x + (x? —=1)/%}®> +{x — (x* — 1)1/?}® is a polynomial of degree

a)5 b) 6 c)7

d)8



17.

18.

19.

20.

The value of C3 +3 - C} 45 C} +...to (n + 1) terms, is
a) Zn—lcn_l

b)(2n + 1)**"1c,

2(n+1)- " Ic, 4

" o+ 2+ 1)

Ifn— 1C, = (k* —3)"Cr41, thenk €

32

a) (— o, —2) b)[2, %) A [—3,43] W32

The total number of terms in the expansion of (x + ¥)% + (x — y)1% after simplification is
a)51 b)202 c) 100 d)50

If (14 x)"=Co+ Cyx+ Cyx® +... + C, X", thn for n odd, C$ + C3 + CZ +... + C%is equal to

2n)! (2n)!
2 (nh? 9 (n!)?

a)2%n2 b) 2" c)



